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134CS 137CS 134CS 137CS 134CS 137CS

T |EER 5 W6 11.4] &= 060 | 050 0.10] BOBLE 3 3 34 4 = = I 2.000 6. 400[BBE
7 [EK T Ho6. 11.4 | 8 0.79 | 050 010 BOLLE 3 3 < < = o I - 3000 10.000[G 55
3 [EA i H26.11.2 | & 053] 080 010 6OLLE 1 1 < < = = 51 64 000 __3.300[ieB
1 |Zx8 e H26.11.3 | 8 0.18] 050 010 70 3 5 < < = = T 700] 5. 600[faB
b |BER T R26.11.3 | & 0.15] 050 010 5/ 7 10 < < = T 12 56 3004 100[laB %
L T 26.11.3 | 8 0.06 | _1.00__0.10 48 6 5 4 4 = T 0] 60 1.000 __3.100[@5E
7 [#R Eh H26.11.3 | & 0.05 | 070 0.10] BOBLE 3 ? 4 4 = = 3] 55 930 3.0005BE
8 [ILE Eh H27.2. 28| & 0.30 | 060 010 B0LLE 5 10 4 4 = 51 3,100 11.000[B5E
G T H26.11.3 | & 0.22 | 070 010 60LLE 3 5 < < = = 5 4 1300 4 40025
NEE T H26. 11.3 | & 0.18 | 050 010 6OLLE 5 5 < < = = 5 28 230 T0[BEE
T [=/R - H26.11.2 | = 0.19] 05 010 72 7 6 < < = T 0] 54 1,400 4. 400[aB
7 =0 T3 R26.11.3 | & 015 050 010 BOLLE ] 5 < < = T 12 66 1.200] 3. 800[BBE
13 IRT T H611.2] & 075 070 0.10] 6OLLE 3 2 4 4 = = 80 170 550 B R 5
THE 53 H26.11.3 | 8 0.74] 100 010 14 16 7 4 4 = = 5 27 30 W0EeE
5 R T H26.11.3 | & 009 070 010 33 10 8 < < = = 5[ 28 40 0[5 E
6 [AR T H26.11.3 | & 0.06 00010 8 2 5 < < = = 330 70 BO[EER
T 5= i R26. 11.3 | & 0.15 0050 78 6 9 < < = = 24 290 880[iER R
5 | BET e h26.11.3 | & 0.06 | 080 010 BOLLE 3 7 < < = = 5| 5 490 1,500[i5E 8
19 [X& T 26.11.3 | 8 0.19] 050 010 36 i 9 34 4 = = 700 2. 100[i5B 8
20 [E = H26.11.4 | & 0.17] 060 010 5 7 9 4 4 = = 51 56 7500 4 900[aBE
21 [LhE 5 26 11.4 | & 019 070 010 38 8 9 4 4 = = 5 48 560, 1,800
2 B2k T Ho6. 11.4 | & 007 000 010 6 3 7 < < = = 3] 58 1,800 5. 500255
23 _[IERR T H26. 11.3 | & 0.16] 100 010 9 2 3 < < = = 530 140 10[EER
7 BBt T H26.11.3 | 0.0/ 08 010 72 5 5 < < = = 5[ 50 460 1,500[i5E 8
B | EEHE T3 Ro6. 114 | & 0.15 [ 080 0.10_ 60ELE 2 2 < < = = 5160 530, 1.900[5B8
26 |5 T H26.11.3 | 8 0.70 | 080 0.10] BOLLE 2 2 4 4 = = Y 2,000 6. 400[B5E
27 |HER 5 H26.11.3 | & 0.76 | 070 0.10] 60LLE 2 ? 4 4 = = 51 29 390 1.2005BE
EES! B H26.11.3 | % 0.09] 060 010 4 9 8 4 34 = 0] 56 960, 3.100[iB5
29 [& i H26.11.3 | & 0.15] 060 010 78 4 4 < < = = T 6 190 50 E s
30 |BOR T H26. 11.3 | & 0.15] 070 o010 73 2 7 < < = = 715 1200 4100258
3 =R e H26. 11.3 | & 0.74] 080 010 33 i 10 < < = = 8] 5 650] 2. 2005 B8
32 @i T R26.11.3 | & 0.710] 070 010 4 g 5 < < = = 754 7,300, 4 400[BBE
33 AL T H26.11.3| = 0.76 | 050 0.10] BOLLE 2 2 4 4 = = 5 57 1.200 3. 900[@BE
gé EEEFE} = Hgg_n_g i 8% 0 00T T il a a - - g 2? 1%8 5288 F?E HERAS R AT

T & H26. 11. = . . . - - . . RERE
36 [ILiiE T H26.11.2 | &= 0.20] _0.70_0.10 2 Ti 12 < < = = Y 1900, 6. 100258
37 [#W T H26.11.2 | &= 0.20 [ 050 __0.10] 60 6 8 < < = = 716 2.000___6.600[B5E
33 [ REH e H26.11.2 | &= 0.24 | 1.00 010 BOLLE 2 2 < < = 10 5% 1400 4 400[aB K
39 LR 5 M611.2 | = 021 080 010 _ 50 7 1 34 34 = = 5160 520] 1. J00[EEE
10 Bt Eh M6 112 & 0.19 | 320 0.50] BOLLE 4 8 4l 4 = = 3] 36 500] __ 1.600[%E5
41 [F Et 26 11.3 | 8 0.06 | 110 0.50] BOLLE 1 1 4l 34 = = 5 3 110 350[iER R
1 [REIM T H26.11.3 | & 0.15] 080 010 4 5 3 < < = = 536 670, 2. 000[isB8
13 [EOR T H26. 11.4 | RIS 0.12] 090 _0.10 34 i T < < = = 3 19 10 WEEE
1 |BECR e H26.11.3 | B8 0.08] 060 010 5 7 8 < < = = 3139 520 1,605 B8
25 |55 T3 R26. 11.3 | & 017 070 010 43 6 8 < < = = 51 53 550, 1.8005B 5
26 =t T H2611.3] = 0.78] 060 010 78 3 10 4 4 = = 556 7,600 5 30025k
47 [ B H26.11.3 | & 014 080 010 70 5 5 4 4 = = 51 1 820] 2,600/ 5
13 ERE Bt H26.11.3 | & 0.20] 070 010 16 73 3 34 4 = = 5| 54 200 650[ B8
29 [Era T H26.11.3 | & 0.15] 080 010 5 8 9 < 2 = = 3] 38 560, 1.800[i5B&
50 |—REE T ho6. 114 | & 017 070 010 BOLLE 3 6 < < = = 51 6l 1,200 3.900[i2 B8
5 |—RH e R26. 11.2 | & 0.07] 050 o010 77 2 4 < < = = I O 14004 50025
52 |KIL% E 26 11.4 | 8 0.0/ ] 050 010 42 8 12 4 4 = = I 1.800] 5. 600[@5E
53 Sk T H26.11.2 | & 0.18 [ 030 010 22 16 2 4 4 = = I R ) 630, 1.900/iaB8
54_|Fik 53 H26.11.4 | & 0.76 | 060 0.10] BOBLE 1 2 34 4 = = K 950 2. 900[BE
R T Ho6. 11.4 | & 0.07] 060 010 18 16 29 < < = = 8] 5 210 640 BB E
56 |EWR T H26. 11.2 | & 0.16] 050 010 8 5 9 < < = T 0] 58 1,600, 5,000[25E
57 [BKR e Ho6. 112 | & 0.76 | 040 0.10] BOLLE 5 4 < < = = o 20 70 20[EEE
58 [EKREE AET H26.11.2 | = 017 030 010 __ 97 5 8 < < = = 8] 39 540 1, 700588
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59 [Eix i H26.11.3 & 0.09 0.40 0.10 81 2 5 <1 <1 - - 3 47 430 1,300[f2 B8
60 [Xil 5 H26.11.3 [ 0.08 0.30 0.10 39 9 16 < < - - 0 47 250 840[EEE
61 |PIE el H26.11.3 [ 0.14 0.50 0.10 59 4 6 < < - - 0 52 590 1,900| 2 B8
62 |FH Xl H26. 3 fE 0. 14 0.50 0.10 87 4 7 < < - - 0 57 720 2,300[2 B2
63 [BRE ETh H26. 3 [ 0.13 0.40 0.10] 601 E 4 5 < < - - 5 56 760 2,500[{EE 8
64 |[REDIRE ETh H26.11.2 = 0.10 0.30 0.10 88 4 8 <1 <1 - - 15 67 2,500 8,000[{EE 8
65 [dbiE Bt H26.11.2 | 2 0.22 - - - - - - - - - 5 51 20 50[EE 8 FAEEF KDV < FRKF
66 |48 B H26.11.3 [ 0.13 0.50 0.10 21 16 13 <1 <1 - - 15 65 610 2,000[{2B 8
67 |FDiE el H26.11.2 = 0.12 0.30 0.10 55 9 3 < < - - 15 45 <10 0[EEE
68 |ILA 5T H26. 3 fE 0.15 0.40 0.10 20 20 8 < < - - 15 46 460 ,500[{E B 5
69 |Efkz il H26. 3 R 0.09 0.40 0.10 14 27 25 < < - - 5 55 350 ,100[{EBE
70 | XE ETh H26. 8 | IREE 0.10 0.30 0.10 12 29 21 < < - - 10 61 1,200 3,800[{EEE
NS ETh H26.11.4 [ 0.15 0.70 0.10 80 3 1 <1 <1 - - 5 50 1,400 4,500[{EE 8
12 |MER il H26. 11.8 | tRrEEF 0.26 0.45 0.10 21 10 16 <1 <1 - - 10 56 2, 600 8,200[{2B 8
JENE el H26.11.4 [ 0.18 0. 60 0.10 68 2 4 < < - - 8 67 1, 800 5 800[{EEE
T4 AR el H26.11.8 RS 0.15 0.45 0.10 26 10 10 < < - - 10 36 490 1,7100| 2 &8
75 |FEREH il H26. 8 | RES 0.23 0.30 0.10 12 20 4 < < - - 8 37 570 2,000[2 B 5
76 |FEH il H26. 8 | REE 0.23 0.30 0.10 48 5 8 < < - - 1 57 1,400 4,600[2 B2
11 =% ETh H26.11.8 R A 0.19 0.28 0.10 48 5 1 <1 <1 - - 1 34 130 2,300/
78 |FDiE ETh H26.11.8 R B 0. 26 0.45 0.10 13 14 28 <1 <1 - - 10 57 1,100 3, 710028
19 [FTDig ETh H26.11.8 R EE 0.23 0.40 0.10 14 27 32 <1 <1 - - 10 44 580 1,900[f2 B8
80 [FERL hitl H26.11.8 RS 0.28 0.45 0.10 30 8 9 < < - - 10 43 1,100 3,500[{E 5
81 [Hg el H26.11.8 RS 0.19 0.35 0.10 12 34 21 < < - - 8 60 1,500 4,800[E B85
82 | X~ iR il H26. 8 | REE 0.22 0.30 0.10 8 35 43 < < - - 10 42 730 2,500[2 B2
83 [AiIH ETh H26. 8 R A 0.19 0.35 0.10 5 66 100 < < - - 5 29 100 360| B8
84 [T& ETh H26.11.3 [ 0.16 0.50 0.10 55 17 21 <1 <1 - - 10 67 1,400 4,200/
85 [&F Eth H26.11.3 & 0.21 0.50 0.10 35 52 100 <1 <1 - - 10 64 1,500 4,800[{2B 12
86 |#BEBM IR EmW H26.11.3 & 0.14 0.50 0.10 26 14 17 <1 <1 - - 10 51 1,500 4,800[{2B 8
87 [FEf it H26.11.3 [ 0.13 0.30 0.10 16 23 31 < < - - 6 29 140 450[EEE
88 |BEFHER il H26. 3 fE 0.16 0.30 0.10 180 150 < < - - 10 83 550 2,000[{2 B2
89 [/ME Xl H26. 3 [ 0.20 0.50 0.10 1 24 82 < < - - 6 54 650 2, 100285
90 [¥E@ ETh H26. 3 [ 0.10 0.50 0.10 8 6 9 < < - - 10 67 1,300 4,200/
91 |AARNIE ETh H26.11.3 [ 0.18 - - - - - - - - - 10 37 690 2,100[{EE 5 SAEREKHE EKFA
92 |FHIE ETh H26.11.3 & 0.16 - - - - - - - - - 5 67 1,000 3,300[{2B 8 BB KA E KA AL
93 [F4AR 5 H26.11.9 = 0.19 0.35 0.10 45 4 9 < < - - 10 51 1,500 4,700[E 85
94 [FRREDIE hitl H26.11.9 = 0.14 0.45 0.10 21 10 12 < < - - 10 47 900 3,000[{E 85
95 [HZE]) 5 H26. 8 = 0.21 0.35 0.10 45 6 7 < < - - 8 32 370 1,300| 258
96 [ iR 5 H26. 8 = 0.18 0.30 0.10 10 52 96 < < - - 6 56 120 3I0[{EEE
97 |[fEEH ETh H26.11.9 = 0.16 0.30 0.10] 601 E 2 4 <1 <1 - - 10 44 1,000 3,200/ B8
98 [giIEA EtH H26.11.7 REE 0.22 0.45 0.10 25 8 17 <1 <1 - - 10 50 1, 600 5, 100[{EB 8
99 [E% Emh H26.11.7 REE 0.22 0.35 0.10 25 7 8 <1 <1 - - 10 4 1,300 4,300[{2B 8
00 [8R#z 5 H26. 11.7 RS 0.24 0.35 0.10 18 6 5 < < - - 10 58 2,300 7,600t 8
01 [#rig el H26.11.2 = 0.17 0.50 0.10 33 6 6 < < - - 6 39 360 1,100|fE S8
02 [EH Xl H26. 2 = 0.17 0.30 0.10] 601 E 27 64 < < - - 10 46 40 N[EESE
03 [FH8 EFiR ETh H26. 2 = 0.16 0.50 0.10 23 11 22 < < - - 10 57 1,100 3,500[{EE
104 [{=HLER il H26.11.2 [ 0.17 0.50 0.10 55 6 1 <1 <1 - - 1 59 1,400 4,400/
105 [1EF FiE B H26.11.2 = 0.16 0.50 0.10] 601 E 5 16 <1 <1 - - 10 59 630 2,100[{E B8
106 |{EZTFig Emh H26.11.2 = 0.13 0.50 0.10] 60LLE 4 9 <1 <1 - - 10 48 430 1,300[f2 B8
07 [ZFBTIRE hitl H26.11.2 = 0.16 0.50 0.10 60LLE 2 3 < < - - 7 67 980 3, 20065
08 &% 5T H26. 2 = 0.18 0.50 0.10 78 2 3 < < - - 10 55 260 940[EEE
09 [/MKER il H26. 2 = 0.10 0.50 0.10 40 5 7 < < - - 6 25 140 130[EEE
110 [FiRIE ETh H26.11.2 = 0.21 0.40 0.10 35 13 25 <1 <1 - - 6 60 1,400 4,500/ 8
111 |BERFF Eh H26.11.2 = 0.13 0. 60 0.10 86 1 7 <1 <1 - - 10 49 590 1,900(FE &8
112 g B EDIE ETh H26.11.2 ] 0.16 0.50 0.10 95 6 34 <1 <1 - - 7 62 1,300 4,200 8
3 |RilE il H26.11.2 B 0.15 0.50 0.10 63 4 4 < < - - 10 41 510 1,700/ 2 &8
4 BEDIR hitl H26.11.2 5 0.18 0.50 0.10 55 2 3 < < - - 6 48 2,200 7, 100[tE &8
b [lE2KDIZ il H26. 2 = 0.19 0.50 0.10 26 9 11 < < - - 7 45 , 800 5 800[{E B2
6 |48 BE™ H26. 2 = 0.15 0.50 0.10 15 18 17 < < - - 6 45 , 100 3, 100[2 B 15
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117 |#H il H26. 11.2 0.16 0. 60 0.10 93 4 5 <1 <1 - - 10 68 1,100 3, 100|288
18 [#iRH il H26. 11. 2 0.16 0. 60 0.10 89 3 3 < < - - 2 58 1,700 5 100|288
19 [#B Sh H26. 11. 2 0.15 0. 60 0.10 59 8 17 < < - - 2 57 900 2,800[2 882
20 |RER 5 T H26.11.4 0.14 0.50 0.10 60LlE 1 9 < < - - 0 46 1,000 3,300[&E 52
21 |RIRF 5T H26.11.4 0.17 0.50 0.10 85 6 1 < < - - 0 57 1,400 4, 400|288
122 lTOA i) H26.11.4 0.20 0.50 0.10 60LLE 13 38 <1 <1 - - 10 49 1, 300 4,300[28 8
123 [mIKBS Bt H26. 11.7 0.23 0.45 0.10 46 5 13 <1 <1 - - 10 52 2,000 6,300|1EE 2
124 | DR B H26.11.3 0.18 0.50 0.10 35 5 8 <1 <1 - - 8 32 50 160|252
25 |—DF 5 h H26. 11.3 0.17 0.50 0.10 20 9 11 < < - - 2 59 1,300 4,400[2 55
26 | KB§ 5 T H26. 11.3 0.14 0.50 0.10 75 6 5 < < - - 2 10 2,300 7,500|2 52
27 |y iR ol H26. 11.7 0.23 0.55 0.10 67 3 6 < < - - 0 54 120 2,400[12 B8
28 |#riE el H26.11.4 0.27 0. 60 0.10 60 6 9 < < - - 2 61 920 2, 900|288
129 [3RiET il H26. 11.7 0.13 0.30 0.10 17 11 12 <1 <1 - - 10 46 2,400 1, 7100|252
130 |[ZEE TP it H26.11.7 0.18 0.45 0.10 24 11 12 <1 <1 - - 8 41 950 3, 300|288
31 |#riR (EDIE) 5 H26. 11.7 0.20 0.35 0.10 30 10 11 < < - - 8 45 920 2,900 88
32 [3AJ) 5 h H26. 11. 4 0.20 0.50 0.10 64 8 8 < < - - 6 54 1,400 4, 700|288
33 | Kz 5 T H26. 11. 4 0.27 0.50 0.10 88 3 3 < < - - 8 57 350 1,200[E B2
34 ARAT 5T H26. 11. 4 0.25 0.50 0.10 38 12 19 < < - - 12 45 580 1,900[E B2
135 |Ep8kha i) H26.11.3 0.29 0. 60 0.10 85 4 5 <1 <1 - - 5 40 950 3, 000|288
136 |[HAIF kit H26.11.3 0.27 0.50 0.10 31 16 20 <1 <1 - - 12 36 770 2,500|2 B8
137 [FTR il H26.11.3 0.25 0. 60 0.10 60LL.E 2 2 <1 <1 - - 12 41 720 2, 300|288
38 [—# % 5 H26.11.3 0.31 0. 60 0.10 40 10 9 < < - - 0 52 3,100 10, 000|212
39 |¥1l 5 h H26.11.3 0.24 0.50 0.10 48 6 11 < < - - 0 50 970 3, 100[2 85
40 [&FR=-F 5T H26.11.3 0.31 0.40 0.10 60l 4 8 < < - - 0 51 830 2,500[&E 52
41 |f%B) 5 H26.11.3 0.26 0.50 0.10 87 8 10 < 1 <1 <1 5 48 360 1,100[42 52
142 | Xitl H26.11.3 0.24 0.50 0.10 51 9 11 <1 <1 - - 8 39 1,400 4,500|2 88
143 [FRE Et H26.11.3 0.27 0. 60 0.10 60LLE 1 2 <1 <1 - - 5 59 230 19085
144 g% B H26.11.4 0.24 0. 60 0.10 45 14 19 <1 <1 - - 10 58 990 3, 100|288
45 [Fi2 fitl H26. 11. 4 0.24 0.40 0.10 24 17 29 < < - - 6 50 890 3, 0002852
46 |RER 5 T H26. 11.3 0.24 0.50 0.10 56 6 1 < < - - 10 49 1, 600 5 000252
47 |[£# 5 T H26.11.4 0. 29 0.80 0.10 46 1 11 < < - - 8 42 890 2,800[2 B8
48 |IREIM il H26.11.4 0.29 0.70 0.10 45 1 8 < < - - 10 52 2,200 1,000|E52
149 |&HT i) H26.11.3 0.15 0.50 0.10 65 9 13 <1 <1 - - 10 54 930 3, 000|288
150 |E#HHE il H26.11.3 0.04 0.50 0.10 25 15 19 <1 <1 - - 3 30 470 1,500[2 B2
51 |[=3& 5T H26. 11.3 0.27 0.50 0.10] 601k 2 2 <1 <1 - - 6 59 2,500 8 200|152
52 [#ER 5 h H26. 11.3 0.35 - - - - - - - - - 5 70 2,100 6, 700|252 AR KOV < ERAKA A
53 |RsEDIE 5 T H26. 11.3 0.28 0.40 0.10 34 11 14 < <1 - - 6 44 970 3, 100282
54 | EIRH 5T H26.11.3 0.17 0.50 0.10 31 10 15 <1 <1 - - 1 51 480 1,600[E 52
155 |&% il H26.11.3 0.31 0. 60 0.10 48 10 10 <1 <1 - - 10 51 1,600 5 200|288
156 |F~:8 B H26. 11.3 0.07 0.50 0.10 31 12 15 <1 <1 - - 6 45 270 810|t2B 8
157 |BFER Emh H26.11.3 0.29 0.50 0.10 48 8 9 <1 <1 - - 3 24 230 160255
58 [1E# 5T H26. 11.3 0.21 2.00 0.50 47 5 8 < < - - 6 51 1,200 3, 7100|252
59 |7k Sh H26.11.3 0.07 0.50 0.10 60 1 9 < < - - 6 52 2,000 6, 400252
60 |[SHFIE 5 T H26. 11.3 0.15 0.40 0.10 58 6 10 < < - - 5 52 420 1. 40028
61 [Ai/&E il H26. 11.2 E 0.21 0.50 0.10 5 18 14 < 2 <1 <1 4 53 1,300 4,200z B8
162 |AHR0 Xitl H26.11.2 = 0.23 0. 60 0.10 60LLE 2 8 <1 <1 - - 10 45 710 2,400|2 B8
163 [/ME it H26.11.2 = 0.18 0. 60 0.10 44 16 28 <1 <1 - - 12 52 320 1,000[f2 52
164 | % Emh H26.11.4 & 0.52 0.30 0.10 17 18 23 <1 1 <1 <1 3 42 1, 700 5 500|288
65 [FRARILIEAE— 5 h H26. 11. 4 s 0. 26 0.50 0.10 82 4 6 < < - - 2 32 570 1,900[E S8
66 [FRARILASE= 5T H26. 11. 4 5 0.28 0.50 0.10 83 4 6 < < - - 2 62 1,400 4,800z B2
67 |&iRIE 5T H26. 11. 4 & 0.18 0.50 0.10 601 .E 28 38 < < - - 0 50 830 2, 700[&E 52
168 [EASDIE il H26.11.2 ) 0. 67 0. 60 0.10 60LL.E 1 <1 <1 <1 - - 8 59 6, 800 21,000tz B8
169 IZAEDIE Xitl H26.11.2 = 0.84 0. 40 0.10 60LLE 0 <1 <1 <1 - - 5 62 2,200 71,100[2& 8
170 |72 F il H26.11.2 & 0.17 2.10 0.50 60LLE 1 1 <1 <1 - - 5 50 290 920[E8 5
171 [#» B 5 h H26. 11.2 [ 0.17 25.20 0.50] 60LLE 1 1 <1 <1 - - 10 61 5,900 19, 000|212
172 [IHAZE1 5 h H26.11.3 = 0.25 0.50 0.10 64 3 3 <1 <1 - - 10 50 1,800 5 500[2 88
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173 |E% HEM H26. 8. 29 & 0.24 1.05 - - - - - - - - 5 46 2,500 7, 400| /AL BB
174 |[—&XK BEH H26. 8. 29 fE 0.19 1.93 0.50 60LLE 3 2 <1 <1 - - 5 49 2,300 6, 900 HILEBE
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175 |& 5 i H26.11.22 1.18 0.50 0. 60LLE 3 6 <1 <1 - 12 62 5,400 18, 000|218
16 [FH48 mEEm H26. 11.22 1.05 0.30 0. 601 E 3 5 < < - 12 61 560 1,800/ 28
77 4l mHEET H26.11.22 0. 44 0.50 0. 56 5 6 < < - 3 30 870 2,800[{E 55
18 [EF EHEET H26. 11. 22 0.34 0.40 0. 36 16 16 < < - 8 65 4,100 13,000[2 B8
79 /hithEA mHEET H26.11.22 0. 54 0.40 0. 60LLE 2 5 < < - 12 36 4,500 15, 000[{EE &
180 |34 EHEET H26.11.22 0.82 0.60 0. 60LLE 1 1 <1 <1 - 6 58 9,200 30, 000|218
181 [K4H mEEH H26.11.22 1.09 0.60 0. 60LLE 3 2 <1 <1 - 12 67 3,800 12,000/ B8
182 [dtEEK mEEH H26. 11.22 1.19 0.60 0. 56 6 8 <1 <1 - 4 47 3,400 11,000/ B8
83 [ mHEET H26. 11. 20 0.80 0.50 0. 60 8 9 <1 <1 - 12 56 6, 400 20, 000|218
84 |Fix EHEET H26. 11. 20 0.41 - - - - - - 6 41 2,000 6, 600[{EE 8 SAERKAE <FKA A
85 [dhily EHEET H26. 11. 20 0.54 0.60 0. 90 4 5 <1 <1 - 4 49 3, 800 12,0002 B2
86 (K& H mEEH H26.11. 20 0.24 0.30 0. 55 29 50 <1 2 <1 <1 12 59 7,200 24, 000|218
187 [mi EHEET H26.11. 20 0.30 0.40 0. 55 7 9 <1 <1 - 6 48 1,300 4,100/
188 |i#% mAEEH H26.11. 20 1.11 1.60 0. 60LLE 3 3 <1 <1 - 4 46 1,100 3,400[{2 B8
89 |#h mAEET H26. 11. 20 0.56 0.40 0. 87 4 4 < < - 2 63 5, 300 17,000[2 B8
90 |FE mEET H26.11.19 0.84 0.40 0. 601 E 3 2 < < - 2 50 8,100 26, 000|258
91 |FiBE2 EHEET H26.11.19 0.98 0.40 0. 601 E 3 3 < < - 2 57 12, 000 39, 000|258
92 |4 EHEET H26.11.19 0.79 0. 40 0. 601 E 1 1 < < - 2 64 3,300 10, 000[f2 B &
193 | K& mHEET H26.11.13 0.44 0.50 0. 52 16 38 <1 <1 - 12 47 730 2,400[fEE 8
194 @78 mAEEH H26.11.13 0.31 0.50 0. 60 6 8 <1 <1 - 3 63 2,400 8,000[t2 B8
195 [JEEE EHEET H26.11. 14 0.32 0.50 0. 66 5 4 <1 <1 - 6 65 3,300 11,000[t2 B8
96 [F /i mAEE™ H26.11. 14 0.22 0.40 0. 53 7 8 < < - 12 43 590 1,900[fs B8
97 |3~ iR (78) mHEET H26. 11. 17 0.24 0. 60 0. 601 E 2 3 < < - 12 54 1,400 4, 30065
98 |#r~ iR () mEEH H26.11.17 0.10 0.30 0. 64 6 13 < < - 2 2/ 100 JA0[{EEE
99 |&1h mHEET H26.11.15 0.22 0.50 0. 78 18 20 < < - 6 54 2,300 7,200t 8
200 |8 EHEET H26.11.16 0.36 0.50 0. 58 10 15 <1 <1 - 12 49 3,900 13, 000[fEE 8
201 |9% EHEET H26.11.16 0.28 0.50 0. 52 13 16 <1 <1 - 8 58 2,000 6,400[{EB 12
202 7% EHEET H26.11.16 0.23 0.50 0. 98 1 4 <1 <1 - 6 67 4,100 13,000|t2 B8
203 [X [ ™ H26. 11.15 0.30 0. 60 0. 38 8 8 < < - 2 64 3,300 10,000[2 B8
204 |#& mAEET H26.11.16 0.18 0. 60 0. 62 32 < < - 2 51 330 1,200/ 258
205 [ERE mAEET H26.11.17 0.27 2.20 0. 54 10 < < - 0 64 2,000 6, 100[f2 B8
206 |5 KER mHEET H26.11. 15 0.20 0.50 0. 52 8 < < - 6 31 680 2,300[{EE 8
207 [gm mHEET H26.11.15 0.23 0.50 0. 35 21 <1 <1 - 8 61 950 3,000[{EE 8
208 |FRiRk mAEEH H26.11.15 0.17 0.50 0. 60LLE 4 <1 <1 - 12 51 810 2,700[{2 B8
209 |H3L mAEET H26. 11.15 0. 26 1.20 0. 68 7 < < - 3 63 580 2,000 8
210 [&FiF mHEET H26.11. 15 0.16 0.50 0. 31 21 < < - 6 46 410 1,300[f2 B8
211 |88 BN H26.11.15 0.24 0.50 0. 84 1 < < - 6 66 1,200 3,800[{E B2
212 |8% mAEET H26.11.15 0.12 0.50 0. 87 3 < < - 12 52 1,000 3,200[f2 B8
213 (m EHEET H26.11.15 0.16 0.30 0. 16 100 <1 <1 - 12 44 490 1,600[{EEE
214 |f&:8 mAEEH H26.11.15 0.23 0.50 0. 60LLE 7 <1 <1 - 3 29 730 2,400 12
215 |Bf mAEEH H26.11.12 0.17 0.50 0. 57 18 <1 <1 - 12 67 1,800 5,900[{2 B8
216 |miF mEET H26. 14 0.10 0.50 0. 81 5 < < - 8 59 420 1,300[f2 B8
217 [ImE mAET H26. 14 0.13 0. 60 0. 67 4 < < - 8 43 1,200 3,900[f2B 8
218 |HiE mAEEH H26. 22 0.45 0.50 0. 68 5 < < - 3 47 2,900 9,300/ B2
219 |$R18 EHEET H26. 22 0.27 0.50 0. 30 12 < < - 12 55 2,500 8,400[{EE 8
220 [LLEA mHEET H26.11.23 0.34 0.50 0. 45 7 8 <1 <1 - 8 54 2,100 6,800(t2 B8
221 [4E#. mAEEH H26.11.17 0.26 0.50 0. YA 5 5 <1 <1 - 2 44 1,300 4,100[t2 B8
222 |#EE&M mAEEH H26.11.23 0.21 0. 40 0. 35 10 15 <1 <1 - 10 52 1,400 4, 600|218
223 [A-AE mEET H26. 23 0.23 0.50 0. 32 8 8 < < - 12 59 1, 300 3,900[f2B 18
224 [I2h Lhith BN H26. 8 0.23 0.50 0. 96 3 6 < < - 4 57 1,100 3, 100[{E B 5
225 | K1 mEEH H26. 8 0.22 0.60 0. 6011 E 2 5 < < - 6 63 2,000 6, 400[{EE 8
226 |[REf mHEET H26.11.18 0.23 0.60 0. 60LLE 3 5 <1 <1 - 4 49 1,300 4,100[{EE
221 | B iR mAEET H26.11.18 0.16 0.50 0. 60LLE 2 5 <1 <1 - 12 58 1,100 3,600[{EE 8
228 |58 EHEET H26.11.17 0.19 0.50 0. 60LLE 2 5 <1 <1 - 4 64 580 1,900[f2 B8
229 |8 mEET H26. 17 0.22 0.50 0. 600 E 2 3 < < - 8 61 1,500 4,800[f2B 18
230 |FAH mEET H26. 20 0.77 0. 60 0. 55 7 7 < < - 10 53 4, 200 14,000[2 &2
231 |FEEa mAEET H26. 13 0.40 0.50 0. 39 8 10 < < - 3 60 3,700 12,000[fe B8
232 |#6/NEH mAEEH H26. 22 0.86 - - - - - - 6 65 1, 600 5,200[f2 B2 SAEREKHE EFKFA
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233 [ithés 5l 1l H26.11.19 & 0.24 0.30 0.10] 60LLE 4 4 <1 <1 - - 4 54 5,700 18, 000|218
234 [mE BAaEmT  |[H26 11.13] & 0.24] 050 010 5 8 10 < < = = 5] 58 2300 7.500[@ 58
235 |25 BigEm A6 1117 & 0.20] 040 010 2 7 29 < < = T 12 54 1.200 400025
236 |LEEER EHEET H26. 11. 23 [ 0.31 0.60 0.10 86 4 4 < < - - 6 45 2,300 1,700[ 2B 8
237 |sh L BiE mHEET H26.11. 20 [ 0.94 0.50 0.10] 60LLE 2 4 < < - - 12 59 1,700 5, 800[t2E 12
238 | K8 EHEET H26.11. 14 [ 0.24 0.50 0.10 91 3 8 <1 <1 - - 10 50 2, 800 9,300/t B8
239 |HhiE il mAEEH H26.11.19 [ 0.71 0.55 0.10] 60LLE 2 2 <1 <1 - - 5 54 150 480|t2E 8
240 |JbiR mAEEH H26.11. 20 & 0.57 0.30 0.10 7 76 88 <1 1 <1 <1 10 68 7,200 23, 000[t2 88
241 3R BAgE A6 11.20] & 038 ] 045 010 3% 10 1 < < = T 10] 58 3.600 12,0005
242 =R mEET H26. 11. 20 [ 0.43 0.38 0.10 18 17 26 < < - - 6 67 4,600 15,000[2 B8
243 |hhE— EHEET H26. 11. 20 = 0.20 0.48 0.10] 60LLE 2 2 < < - - 5 54 2,200 1,100[ 2B 8
244 |thHEZ mHEET H26. 11. 20 = 0.29 0.30 0.10] 60LLE 4 4 < < - - 1 37 660 2,200/ B 12
245 [ERE— B H26.11. 20 [ 0.33 0.32 0.10 63 8 8 <1 <1 - - 6 35 1,600 5,300/t B8
246 EREZ EHEET H26.11. 20 [ 0.40 0.31 0.10 72 7 7 <1 <1 - - 5 37 1,900 6,100[t2 B8
247 [XBR BAgEm  [H26 11.20] & 0.35 ] 044 010 BOLLE 4 4 < < = T 10 % 790 2. J00ieE 8
W8 [T 3R BAgET A6 11.19] & 042 055 010 60LLE 5 5 < < = = 7130 2,500 8. 100558
249 [iZET (/MUE) EHEET H26.11.12 55 0.26 0.30 0.10 11 66 71 < < - - 8 49 2,100 6,800[t2 58
250 [ KHEYI EHEET H26.11.12 [55 0.28 0.20 0.10 42 8 9 < < - - 8 62 1,900 6, 100[f2 B8
251 [=HIRET EHEET H26.11.12 [55 0.11 2.30 0.50 62 6 1 <1 <1 - - 8 64 1,000 3,300/t B8
252 |=JIEE2 EHEET H26.11.12 551 0.16 0.40 0.10 68 7 7 <1 <1 - - 6 60 1,400 4, 600[t2 B8
253 |#EARR EHEET H26.11.12 = 0.14 0.30 0.10] 60LLE 2 1 <1 <1 - - 5 31 140 430|428 &8
RS BAaET  |[H26 11.15] 0.76 | 030 010 60LLE i a < < = = 5% 260 50055 E 8
25 [l BigEm A6 11.12] 0.36 ] 030 010 60LLE 1 5 < < = = 5 4 820 2. 100k
256 [\ AHUE] mEEH H26.11.12 = 0.30 0.30 0.10 80 3 5 < < - - 6 51 1,500 4,700/ B2
257 [ W HUE2 mHEET H26.11.12 = 0.42 0.30 0.10 61 6 1 < < - - 1 60 1,900 6,100[42E 18
258 [[BEDE mAEET H26.11.19 [ 0.30 0.35 0.10 8 53 89 <1 <1 - - 10 52 2,300 7,800(t2 B8
259 [#EIRiR mEEH H26.11.19 [ 0.30 0. 45 0.10 73 4 4 <1 <1 - - 6 59 2,600 8,200/t2 B8
260 (i mAEEH H26.11.19 [ 0.08 0.42 0.10 52 8 10 <1 <1 - - 10 61 1,600 5,300[t2 B8
261 [IBE BAgE A6 11.19] & 0.19 | 045 010 BOLLE 3 2 < 4 = = 6] 54 300 4. 400[ieB
262 |REF0 MEHEEH H26. 11. 22 = 0.30 0.30 0.10 8 130 310 < 3 <1 <1 3 49 , 100 3,600[:2B 12
263 | R#IRE] mAEET H26.11.19 [ 0.27 0.35 0.10 76 6 9 < <1 - - 10 49 , 700 5,500/ B8
264 | X#iREE2 mHEET H26.11.19 [ 0.29 0.28 0.10 32 15 16 < <1 - - 8 56 3,100 10,000/t B8
265 [RIREE3 mHEET H26.11.19 [ 0.24 0. 45 0.10 80 8 6 <1 <1 - - 6 66 3,300 11,000[f2 B8
266 |f28 EHEET H26.11.24 & 0.29 0.50 0.10 55 8 10 <1 <1 - - 10 52 2,100 7,000(:2 88

%g; &? % T %g ' }g SE 8 g; 05001067 5 5 ) <) - - 13 ig [ ggg é 288 Egtz AERANR AR
FaE 5 H26. 11. 5 3 5 5 - - s , B
269 |we;3 mAEET H26. 11. 24 [ 0.35 0. 60 0.10] 60LLE 1 1 < < - - 8 67 500 1,600[f2 B8
210 |[BEBE mAEET H26. 11. 24 [ 0.27 0.50 0.10 94 6 4 < < - - 8 66 2,100 6, 600|258
271 |[2RT (181%) mHEET H26.11. 23 [ 0.31 0.40 0.10] 60LLE 4 3 <1 <1 - - 12 68 3,200 11,000/t & 12
272 [ HDE mEET H26.11.23 & 0.25 0.60 0.10 84 3 7 <1 <1 - - 4 71 1,300 4, 400|t2 B8

AIED) Xitl H26. 11. i . = - - - - - - - - e SAEEIKHAE KT A
275 [ BAgmm A6 11.18] & 0.24] 050 010 36 10 i 2 2 = 12| 56 1,200 3,800[2 5%
276 |3&:R (IIF) mEET H26.11. 14 = 0. 26 0.30 0.10 56 4 4 < < - - 6 37 460 1,600[fe B8
277 | KHER mHEET H26.11.14 = 0.20 0.30 0.10 22 22 23 < < - - 1 54 1,100 3,800[t2E 12
278 [{&R (KA) BEHEET H26.11.18 [ 0.20 0.60 0.10 52 1 8 <1 <1 - - 10 71 1,100 3,400[t2 B8
279 | K#k mAEEH H26.11.18 & 0.18 0.60 0.10 57 4 5 <1 <1 - - 10 69 1,100 3,600[t2 B8
280 (K8 (BI) mEET H26.11.18 & 0.20 0.60 0.10] 60LLE 2 4 <1 <1 - - 12 67 560 1,800[f2 & &
281 |B& BAgEm A6 11.20] & 0.08] _0.35_0.10 8 88 %3 < 2 = = 0] 53 160 530[EEE
282 |HiiE mAEET H26. 11. 22 f& 0.09 0.33 0.10 25 8 1 < < - - 0 65 990 3,300/ &8
283 |;BH BN H26. 11. 22 [ 0.20 0.31 0.10 8 31 28 < < - - 0 54 570 1,900[f2 B8
284 B3R mHEET H26.11. 21 [ 0.21 0.39 0.10 40 5 6 <1 <1 - - 10 51 170 50|iBEE
285 |E & mAEEH H26.11. 21 [ 0.16 0.53 0.10 63 8 10 <1 <1 - - 10 60 1,100 3,400|t2 B8
286 (A H EHEET H26.11.22 & 0.18 0.34 0.10 17 17 21 <1 <1 - - 10 55 640 2, 100[t2 B8
287 |28 BAgEm  |[H26 11.21] & 0.22] 038 010 4 8 6 < < = = 040 1,000 3.300[i2 55
288 [AE BAgEm A6 11.21] & 0.18] 045 010 18 13 5 < < = = 0[50 850, 2. 900[i 5
289 |B/\= mAEET H26. 11. 22 [ 0.23 0.64 0.10 42 9 8 < < - - 0 59 950 2,900 B2
290 [#E#ERE mAEEH H26.11.19 [ 0.15 0. 45 0.10 10 39 52 < < - - 8 35 310 9/0[fEEE
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REES ; i
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T4y s — == - - - - =
ggi gj;{ﬁﬁ%z E 5w (126 11.14] B 0.24] 030 010 54 8 7 < < = g é; ggg éggg 15%%‘
AINEE mEET 2611141t 0.16 | _0.30_0.10___42 8 12 < < = 850 2003 000k
29 L6l _ EiEn 16 1121 B 0.18 | 038 010 BOLLE 5 4 < < = 440 870____2.900 1!:%%5
290 1/ X1 EiEn 2611141 5 0.79 [ _0.30 010 60LLE i 7 4 4 = 1] 65 5.500 18,000 ;%Lg
IR EiEEn H26.11.14] 0 024 030 010 5 5 6 4 4 = 5 44 1800 5.800 *5%5'5
IR HE Eiin 26 T1.22] & 0.18] 035 010 40 8 7 34 4 = 870 2300 720008 =
mley7 451 5 1261121 1 0.22] 033 010 73 2 3 < < = 056 11003, 400 ;?5
0 187 5] EiEn 261127 % 0.18 | 0.39___0.10__6OELE 2 3 < < = 062 240140004 X
01 i/ Bk 12611 22| U 019 047 010 5 7 6 < < = 0 39 7000 3 400[ieB i
07|53 EiEn 2611141 15 020 030 010 5 8 B < < = 655 1400 4500658
103 150 EiEn H26.11.14] Wk 0.08] 030 010 5 6 3 4 4 = 5 34 990 3.0000% 5
104 [k Eighn 26 T1.14] % 024 030 010 44 7 9 4 4 = 8 58 2400 7.700 ;?g
35 mEEn 26.11.14] & 0.18 | 0.30__0.10_75 5 9 < < = 7 58 15004 80008 5
106 ¢ 457 5 126, 11.13] U 0.76 ] 030 010 19 29 99 < < = 8| 44 660 2.200 ;%Lg
071EE EiEhn 26,11 13] 0 0.44] 030 010 58 3 9 < < = 7165 2.400 7,700 1;?;
06 [BAE Eihn 2611141 15 0.20] 030 010 46 8 1 < < = 5 35 1,000 3.200 1;%%5
109 171 551 Eihn H26 T1.13] 1 024 030 010 64 5 9 34 4 = 759 130 ) F%Lg
310 A5 EiEEn H26 T113] 0 024 040 010 69 4 7 4 4 = 5 59 7000 3.6000% 5
IR EiEEn @32_11_12 I} 8;2 ggg g}g 60%11 17 7 4 4 = 8 T 10 1 40[EEE
= Lt} 1. ;] . . . 0 14 < < - - ST
gi Egg;’% % Sm (26 1113] I8 0.22 1.50 050 44 2% 110 < < = ? gg 13388 sggg 15%5
QLNE £ EiEhn 26 11.13] 0 0.20] 040 010 60 6 7 < < = 774 3,300 1T 000[%8 =
QiR Eihn 26 1113] 1 0.22] 050 010 48 5 9 < < = 61 30 180 500 ;?g
0 IAR EiEn 6 T 13| B 021 030 010 68 6 s 4 4 = 8] 55 500 1,700 1!%@
ST LT K 0.16 [ _0.50 010 24 17 36 4 4 = 8] 75 7300 T 1006 R
19 5 EiEEn 26.11.13] 1 022 030 010 5 6 B 34 34 = 5 63 590 1.9000%8 =
IR Eihn 26 11.15] = 0.2 0.60___0.10__6OBLE 2 3 < < = 6§50 7400 4500/ 68
WIEE__ mEbr [meilizl g 01T 030 _0.10__ 8 7 9 < < - 6] 67 1600 5 300[imsk
GIMLREZE EiEbn 1261112 & 0.2 0.50 __0.10__6OELE 2 6 < < = 8] 45 5200 1.700 15%27
AL EiEn 16 T 15|58 022 030 010 2 17 2 < < = 6 56 7300 430658
AN L S, 61112 = 0.36 | 0.70 010 60BLE 3 3 4 4 = 5 64 2.300 7,200 1!:%%5
24 ot EiEn 26 TLI2] & 0.36 | 0.30 010 60LLE 2 i 34 4 = 5 35 460 1.500 *5%55
35 g b 126 11.15] 0.43] 060 010 5 6 9 < < = 8] 66 1003 600[%8 X
20 1IRT 457 5 26 11.23] 4 0.30 | 0.40 010 6OLLE 2 4 < < = 264 2.300 7,200 ;?5
IRES A 15 26.11.20] & 0.16 ] 041 010 66 5 3 < < = T 2 O ER
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GENES ] % it (W6 11201 % 0.22 [ _0.31 010 60BLE 3 3 4 4 = 1080 810 7 10B8
BT RaE LT TNTEL N NN O TN N N O RN I [ S N (IR I N 1
3 [BOATL EfAEm (M6 11.19] B 0.46 | 2080 050 BOLLE 3 21 21 - 1 ek
333 [N L — |mmEm  [H6.11.19] W 0.38 | 5200 050 BOLLE T < < H— T
ggé %Bitmlgf/_\;)%7»fz5§i¥;& FiASm | H26.0.00 | TREE 0.39 | 0.58 _ 0.10] 60LLE 0 < < = § gg 32' (1)88 ?g ggg L
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338 [F4ti8 1 L ST HT H26.10. 2 = 0.30 0. 40 0.10 18 23 17 <1 <1 - - 12 29 500 1,600[f2 52
339 [Zwild (F) [LEF BT H26. 10. 2 = 0.19 0.40 0.10 68 6 5 < <1 - - 9 42 1,100 3, 600252
340 [FitEH 4 [LEF BT H26. 10. 2 = 0.42 0.30 0.10 8 62 100 < 1 <1 <1 6 42 930 2,800[=2 88
341 [FitES5 L E7HT H26. 10. 2 = 0.28 0.80 0.10 18 54 36 < <1 - - 11 52 1,400 4,200[2 88
342 [Fid&E7 L 2P BT H26. 10. 3 = 0.27 - - - - - - - - - 6 61 470 1,500 2 REEFKOVE < ERAKF A
343 |[EHHREE 1 5 B BT H26.10.5 ) 0.43 0.40 0.10 21 23 20 <1 <1 - - 12 55 1, 600 4,800|28 8
344 [E1E (GREEM) LB ET H26.10.5 = 0.48 0.50 0.10 38 8 11 <1 <1 - - 9 45 1, 700 5 400({EE 2
345 |FdkE 1 1 L EF BT H26.10.3 = 0.41 0. 40 0.10 8 48 49 <1 <1 - - 6 36 380 1,100[f2 B2
346 [FikH1 2 [LEF BT H26. 10. 3 = 0.36 0.80 0.10 8 41 110 < < - - 6 69 2,300 7,300/ 52
347 |F4 L EPHT H26. 10. 3 = 0.50 0.40 0.10 17 6 1 < < - - 9 45 , 900 5, 900282
348 |.E33 L EPHT H26. 10. 4 = 0.36 0.40 0.10 40 5 8 < < - - 8 55 , 100 5, 200|282
349 |k STl H26. 10. 4 ) 0.31 0.60 0.10/ 60LLE 3 12 < < - - 9 52 , 600 5 000|258
350 |.Ed LSBT H26.10.4 ) 0.23 0. 40 0.10 28 20 33 <1 <1 - - 9 28 320 90|z B8
351 | =& _(F) L ST HT H26.10. 4 = 0.32 0. 60 0.10 60LLE 1 1 <1 <1 - - 12 55 940 2,900z 858
352 | EJtE 4 [LEF BT H26. 10. 4 = 0.32 0.80 0.10] 60LLE 1 2 <1 <1 - - 12 93 90 26025
353 | EJtES5 L EF BT H26. 10. 4 = 0.38 - - - - - - - - - 6 67 1,800 5, 600255 AR KOV < ERKA A
354 [EitE 6 L EPHT H26. 10. 4 = 0.28 0.40 0.10 42 8 8 <1 <1 - - 12 63 2,100 6, 500|252
365 |1 L EPHT H26. 10. 4 = 0.32 0.45 0.10 42 6 11 <1 <1 - - 8 53 1,000 3, 200[t2 B8
356 [EdtES8 STl H26.10.3 ) 0.36 0. 40 0.10 70 6 4 <1 <1 - - 9 10 1,500 4,800|2B 8
357 [EdtE9 LB ET H26.10.3 ) 0. 46 0.41 0.10 60LLE 2 3 <1 <1 - - 8 61 1,100 3, 300|218
358 [EJtdE1 0 L EF BT H26.10.3 ) 0.27 0.50 0.10 22 11 10 <1 <1 - - 10 54 1,500 4700|288
359 | EJtiE 1 1 [LEF BT H26.10. 3 = 0.25 0. 60 0.10 5 130 120 < < - - 9 36 620 2,000[28 &8
360 | EJtiE1 2 [LEF BT H26. 10. 2 = 0.40 0.40 0.10 31 10 9 < < - - 10 38 2,100 6,400[2 52
361 | EJtiE13 L EPHT H26. 10. 2 = 0.33 0.80 0.10/ 60LLE 5 20 < < - - 3 44 3,400 10, 000|252
362 | it 14 STl H26. 10. 3 5 0.31 - - - - - - - - - 6 66 1, 600 4,800|2B 8 RERKOEE CFRKF AT
363 [EJdE15 STl H26.10.3 ) 0.54 - - - - - - - - 6 54 2,100 6, 600|252 AERE KA ERAKF A
364 [ FdtE 16 L E7RT H26.10.3 ) 0.45 - - - - - - - - - 6 50 1, 600 4,800/ 18 EEKAE CEEKFA]
365 [ A3 L EPHT H26.10. 4 = 0.23 0. 40 0.10 26 19 23 <1 <1 - - 7 32 450 1,400[f2 B2
366 [HhiK4 [LEF BT H26.10. 5 = 0.25 - - - - - - - - - 6 1 2,500 7,600|f25 2 AR KOV < ERKA A
367 [#hiK6 L EPHT H26. 10.5 = 0.22 1.00 0.10 5 13 18 < < - - 8 55 , 000 3, 300282
368 [ZA&#4 (b) L EPHT H26. 8. 22 5 0.21 0.60 0.10] 60LLE 2 4 < < - - 9 67 , 100 5, 000[RIL 2B
369 [AR [ EFET H26. 8. 26 5 0.31 0.80 0.10 21 9 14 < < - - 8 41 710 2, 000| AL 2D

0.50/ 60LLE 2 5 <1 <1 - - SBORIIZHITTEK
370 |FADIR [REFHT H26. 8. 22 K& 0.11 4.05 2.00 45 5 9 <1 <1 - - 10 61 1,000 3, 300| R BB

3.20 12 35 40 < < - -
3 [BrHE2 [LEF BT H26. 8. 28 = 0.20 2.75 0.50] 601k 4 6 < < - - 10 36 980 3, 100|HILBBBD
372 |IR1E L EPHT H26. 8. 26 55 0.23 5.80 0.50 60LLE 2 3 < < - - 9 62 2,200 1, 100| L2 BB
313 |=2& (k) L EPHT H26. 8. 28 = 0.14 2.00 0.50 22 2 11 < < - - 15 68 2,300 1, 200| HILE D
374 [E1E STl H26. 8. 26 55 0.29 1.35 0.50 22 12 22 <1 <1 - - 10 62 1, 800 5, 200 R BB E
375 [k LB BT H26. 8. 28 ) 0.31 0.35 0.10 21 9 56 <1 <1 - - 10 39 1,500 4, 400|mILE KD
376 [HIR L E7HT H26. 8. 26 551 0.28 0.32 0.10 8 32 31 <1 <1 - - 5 25 310 90| RILEKE
377 |Bp.E [LEF BT H26. 8. 28 = 0.21 0.50 0.10 13 36 1 <1 <1 - - 11 58 4,100 12, 000| HIALE BB




AR T2 6 FERHEETRENO-OMBAERER FEIHX)
KERERE EEAERE
—_— msygggiﬁrﬁ myg?g%%rﬁ s ﬁ&zgfr’riﬁimfﬁ);‘%ﬁ
No. & W mETH | RMER | KE | TRO| 2kE HKkR BRE BE 0SS Bl o ol IS iE EHEEK e
T m) (em (B me/b) (Ba/L) (Ba/L) P S (Ba/ke)
134CS 137CS 134CS 137CS 134CS 137CS
318 B/ B FrithET H26.10. 29 [ 0.19 0.40 0.10, 60LLE 4 5 <1 <1 - 7 32 1,100 3,800(EE 2
379 [ HTHR AT 26, 10.29 | Bk 017 045 010 60LLE 2 3 < < = 8 44 770 2, 600552
380 [sR MR H26.10.29 | Bk 019 045 010 72 6 7 < < = 053 7000 3.3008B8
381 |28 T3 BT H26. 10. 29 [ 0.12 0. 60 0.10 20 33 39 < < - 8 35 190 640|2E 8
382 |[KiEK Frih T H26. 10. 30 s 0.07 0. 60 0.10 60LL.E 12 9 < < - 12 49 400 1,400/ 2B
B[/ R Fih BT H26. 10. 30 [ 0.08 0. 60 0.10 51 7 6 <1 <1 - 12 47 320 990[{E B &
384 |8RAE FhthET H26.10. 28 5 0.15 0.45 0.10 60LLE 4 5 <1 <1 - 10 53 590 1,900/ 2 E 8
385 [EiERHh Fhih AT H26.10. 28 5 0.08 0.30 0.10 33 47 38 <1 <1 - 8 46 620 1,900/ 28
386 |FRF 0 ZTHRAT 26,1028 | Bk 008 041 010 18 16 5 < < = 8 78 100 30[;a8 8
387 [ERE FT 3 BT H26. 10. 29 s 0.14 0.35 0.10 49 8 < < - 10 56 800 2,600|2E 8
388 [ R T BT H26. 10. 30 [ kA& 0.13 0.35 0.10 25 19 2 < < - 8 53 550 1,700[2 B8
380 [SR=FF T H26.10.30 | tRES 0.15 0.40__ 0.10 20 20 22 < < - 10 59 1,200 3, 700285
390 [iB/ iR FhihET H26.10. 30 [ 0.06 0.50 0.10 38 11 10 <1 <1 - 12 37 170 610[fEE 8
391 |PUERFE FhihET H26. 10. 30 & 0.07 0.40 0.10 22 19 16 <1 <1 - 6 39 180 560| 2B 8
397 [ T=BT FrHRAT H26.10.29 | Bk 0.12] 060 010 2 8 77 < < = 7|53 530 1. 800isB 2
393 [t=fr HrHRAT 26, 10.29 | Bk 006 050 010 2 5 2 < < = 753 230 190[E8E
394 [&F T H26.10.30 | #& 0.12 180 0.50 40 1 [ < < - 2 56 680] 2. 200[2BE
395 [RIEK T3 ET H26. 10. 29 s 0.11 0.55 0.10 60LAE 4 2 < < - 8 63 980 3, 100[2E 8
396 [FIRIR S HET H26.10.30| & 0.10 0.50 _ 0.10 39 8 8 <1 <1 = 3 40 220 T00iE 52
397 BB FhthET H26.10. 28 5 0.18 0.30 0.10 60LLE 3 2 <1 <1 - 10 49 810 2,500(EE 2
398 |FiR FhihET H26.10. 29 & 0.15 0.35 0.10 31 10 13 <1 <1 - 10 50 1, 200 3, 7100[{EE 2
399 [fE/NE AT 26,1029 | Bk 008 035 010 76 5 5 < < = 0 6 1,100 3,500[8B8
400 |33k AT H26.10.29 | Bk 016 035 010 46 7 i < < = 049 810 2, 600ia B2
401 [ AfE T H26.10.29| #& 0.19 040 0.10 23 12 5 < < - 0 59 920] 3,000 &
402 [ S HET H26.10.29| & 014 080 010 72 5 4 < < - 7 19 20 Y
403 [E8 Frih BT H26.10. 28 i 0.08 0.50 0.10 60 7 7 <1 <1 - 8 24 110 360| B8
01 [KFE=15& AT H26.10. 30| TREE 018 03 010 16 19 21 <1 <1 - 8 49 17,100 3. 300258
405 [J\3l &% Fhih AT H26.10.30 | RER 0.17 0.35 0.10 16 19 24 <1 <1 - 10 61 580 1,900/ 2 &8
406 [:&7K AT 26, 10.30 | e#5 011 050 010 2 20 21 < < = 10 29 60 2001252
407 | RF % Fith BT H26. 10. 30 [ kA& 0.09 0.35 0.10 42 7 1 < < - 6 26 40 110[2BE
408 |FEhREE A it ET H26. 10. 30 [ kA& 0.08 0.45 0.10 28 19 7 < < - 7 39 90 280[4EE 8
409 [XH T H26.10.28 | #& 0.15 0.35__ 0.10 16 4 5 < < - 10 58 900]  2.800[2BE
410 [BHi ST H26.10.30| #& 0.12 090 0.10 38 10 9 <1 <1 = 10 64 2,200 68001281
411 | BERBH Fhih AT H26.10. 30 | RER 0.10 0.35 0.10 28 4 6 <1 <1 - 8 45 120 30|28
417 [=m HrHRAT 26, 10.30 | e#5 018 055 010 2 8 i < < = 10|56 7100 3. 700[aB8
413 [l AT 26, 10.30 | e85 020 030 0710 18 32 47 < < = 0] 53 640 1900552
414 |15H it H26.10.29 [ B 0.13 - - - - - - - 3 54 300 970[EE R FEFEKAE FRAT AT
415 /Mg S ith BT H26. 10. 29 [ 0.12 0.50 0.10 94 4 4 <1 <1 - 12 63 700 2,300|[2E 8
416 R i BT H26.10. 29 s 0.22 0.40 0.10 46 7 9 <1 <1 - 3 42 820 2, 700[{EE 2
A7 |IRH FhihET H26. 10. 30 & 0.16 0.80 0.10 23 20 8 <1 <1 - 5 59 1, 400 4,900(1EE 2
418 sk Fhih AT H26. 10. 30 & 0.14 0.90 0.10 60LLE 2 3 <1 <1 - 8 55 1, 300 4,300[1EE 2




AR T2 6 FEEBIETREND-OHMBAEFR FEHIUHK)

KEATRER BEEAEREE
S mﬂ&?gggrg mﬂ&?g%%g - ﬁ&lﬁfr’ri&%ﬁ);‘%fi
No. & mETA | EER | XE [ZRRE| Lo wmar  EWmE OBE 0SS (B3R (il ol P (5 EHEEK =
( S /h) 1 1 I I 132, bl
usv ) () Com () (me/L) (Ba/L) (Ba/L) /(z;mé) (%) (Ba/kg)
134CS 137CS 134CS 137CS 134CS 137CS
M9 |EF JIIAF H26.9. 29 & 0.27 7.00 0.50/ 60LLE 3 2 <1 <1 - - 7 53 3,000 9, 400|FIL 2 S
420 |HE A I # H26.9. 29 [ 0.50 0.40 0.10] 60LLE 2 9 < < - - 6 21 90 280| /I EHE
421 [liEUE IIZES H26.9. 29 [ 0.50 0. 60 0.10 15 24 13 < < - - 7 76 9,400 29, 000|FIL B BB
422 B IS H26. 8. 21 [ 0.20 0.15 0.10 57 2 1 < < - - 5 30 55 190|FIL KB
3.80 0.50] 60LLE <1 2 < < - - SROFEIIZHITTEK
423 SRS JIIRA H26. 8. 21 i 0.13 3.80 2.00 60LLE 1 2 <1 <1 - - 10 73 310 880|RILEHE
3.80 3.20 19 32 49 <1 <1 - -
424 (RiE JIIAFT H26. 8. 27 551 0.25 2.36 0.50/ 60LLE 4 5 <1 <1 - - 9 73 2,400 6, 900(RILEKE
425 |SEE JIIRAT H26. 8. 21 [ 0.10 1.86 0.50/ 60LLE 2 2 <1 <1 - - 6 il 1,600 4, 800| HILEBE




